MA205 Lesson 18

Vector Functions

1. Evaluate the following definite and indefinitz integyals by hand.
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% Suppose (#) = 2i+ 144 + 71k and r{0) = j — k. Find r(t)

3 A
WQMU%MEAWH J¢ 0 .+.Nw,m.. +..m~m.vkw £ C

Ho) = 07 +0)j+ Q0K Tufie = )
Y m\n\mnuq f)= stL+ m.wnfoﬂdr@h..cr
Ge = ————2wr



AN
2y = € dcoslt) 4 ) + (s )]+ BE #1T) £

A

3. I e'(#) = {2sin(t), — cos{t), 3} and x{7) = {5,0, 7}, find (¢
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4. Suppose the velocity of a particle at any time £ is given by v(t) = {£* — 1ji + 10t — 5ek.

{a) Find the vector function that describes the ncceleration of the particle at any time ¢,

{b} I the initial position of the particle is represented by 2i — j + 17k, find the vector function that.
deseribes the position of :_m particle af, any time £,
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